Describe Position

Describe Position

1a. Are the coordinates of each point
correct?
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A=(4,1) B=(02)
ﬁf c=@21 D = (4, 3)
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1b. Are the coordinates of each point
correct?
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A=(1,1) B = (5, 3)
C=(34 D=(41)

2a. Find the coordinates in order. What
word do the letters spell?
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2b. Find the coordinates in order. What
word do the letters spell?
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3a. Complete the coordinates below and
plot any missing points on the grid.

A=(.3) B = (.)
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3b. Complete the coordinates below and
plot any missing points on the grid.
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C=(33 D =(.)
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Describe Position

Describe Position

4a. Are the coordinates of each point

correct?y
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A=(s7) B=(8, 2) c=(2.1)
D=(4,3) E=(4, 8) F =(% ¢)

4b. Are the coordinates of each point
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A=(205) B=(7 6) C=(4 86)
D=(39) E=(3 0) F =(5,8)

5a. Find the coordinates in order. What
word do the letters spell?
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5b. Find the coordinates in order. What
word do the letters spell?
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6a. Complete the coordinates below and
plot any missing points on the grid.

A =(.)B =(29 C=(05
D =(.)E =(1L4 F=(.)
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6b. Complete the coordinates below and
plot any missing points on the grid.

A=(54 B =(,) C=(27)
D =(.) E =(.) F=(%1)
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Describe Position

Describe Position

7a. Are the coordinates of each point

correci?y
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A=(8,4) B=(2 18) Cc=(10,12)
D=(1515) E=(7,12) F=(122)

7b. Are the coordinates of each point
correci?y
204
18
16 L
14 L
12
10| @
8 ®

b
4
2

0 » X
02 4 & 8101214141820
A=(2,10) B=(4 16) C=(16, 18)

D=(818) E=(9,6) F =(142)

8a. Find the coordinates in order. What
word do the letters spell?

(27,8) (9,24) (6. 3) (30,27) (24,12) (0,18)
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8b. Find the coordinates in order. What
word do the letters spell?

(30,3) (27.21) (21, 6) (4 9) (6 30) (24,21)
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?a. Complete the coordinates below and
plot any missing points on the grid.

A (.)B (8,13) C=(2,19)
D (. )E (17,18) F (. )
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?b. Complete the coordinates below and
plot any missing points on the grid.

A =(17,14) B = (19.5) C= (., )

D = ( ) E (3.11) F=(. )
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Varied Fluency
Describe Position

Developing
1a. B and C are correct. A = (1, 4);

D=(4,4)
2a. These coordinates spell MANY.
3a.B=(4,5)and C = (2, 2)

The completed grid should look like this:
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Expected
4a. B and E are correct. A = (7, §);

C=(1,2),D=(3,4);F=(9.7)
5a. These coordinates spell REIGN.
6a.A=(7,3),D=(9 7)and F= (3, §)

The completed grid should look like this:
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Greater Depth
7a. B and F are correct. A = (4, 8);

C=(10,11); D= (16, 14); E=(12, 6)
8a. These coordinates spell ENOUGH.
9a. A=(16,4),D=(3,6)and F=(19, 15)

The completed grid should look like this:
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Varied Fluency
Describe Position

Developing
1b. A and D are correct. B = (3, 5);

C=(3.3)

2b. These coordinates spell THEY.
3b.B=(1.5)and D= (5, 1)

The completed grid should look like this:
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4b. A, B and F are correct. C = (6, 4);
D=(%.3)E=(31)

5b. These coordinate spell OFTEN.
6b.B=(4,7).D=(1,3)and E=(8, 5)
The completed grid should look like this:
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Greater Depth
7b. A, B and F are correct. C = (16, 14);

D=(18,8),E=(9.5)

8b. These coordinates spell ANSWER.
9b.C =(2,13),D=(11,18)and F = (13, 2)
The completed grid should look like this:

20

18 o’

16

14 .‘: o
12| T JE

10

8

§ B
4 : .
2 ]

0

0246 6101214161820



